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The equation of the tangent plane to the graph of the function f(z,y) = z — %— at
(1,2,-1) is
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If C goes from (1,0) counterclockwise once around the circle z?+ y* = 1, then
(22 + 2zy)dz + (22 + 2z + y)dy =
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Find the area of the parametric surface r(u,v) = ucosvi 4+ usinvj+ vk, 0 < u <,

0<v<u. ds
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1
Let C be the curve y = 3 z®, 0 < z < 1. Compute / 12yds.
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Let C be the curve given by #(t) = (4v/%,t,5 — t2) for £ > 0. At what point does the
tangent line to C at (4, 1,4) intersect the zy plane?
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Find the maximum value of z2 + y? subject to the constraint 22 — 2z + y% — 4y = 0.
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2 VAa—zx= \/ z24y2
The triple integral / / / (2®+y?) dzdydz when converted to cylindrical
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Evaluate / F - dr where C is the line segment from P(1,0) to Q(0,2) and F(z,y) =
c

(ye™,xe™ + cosy) is a conservative vector field.
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